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Multiplication Facts to 81 (A) 
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Determine each product. 
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Five Minute Multiplying Frenzy (A) 
Write the product of the column and row numbers in each space. 

(Range 2 to 12) 

10 6 11 2 8 12 

Math-Drills.com 

7 3 4 

/100 



22= 

14+2= 

16÷2= 

42= 

82= 
182= 

82= 

12-2= 
4+2= 

22= 
122= 

10÷2== 

142= 
16÷2= 

16÷2 = 

4+2= 
4+2= 

12+2= 
4+2= 

22= 

16÷2= 

10÷2= 
6+2= 

18÷2= 

6-2= 

6+2= 

82= 

22= 
18÷2= 

122= 

162= 
22= 

8+2= 
2+2= 

82= 

6+2= 

10+2== 
22= 

18+2= 
142= 

122 = 

22= 
162= 

122= 
102= 

14+2= 
162= 
122= 
16+2=e 
10+2= 

Division Facts (A) 
Find each quotient. 
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276,753 

916, 122 

512,730 

881,402 

219,841 

462,895 

608, 802 

428, 137 

Identifying Place (A) 
In what place is each underlined digit? 

104,261 

264,678 

670,088 

115,937 

454,536 

866,851 

120, 611 

658,920 

Math-Drills.com 



{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Document", "isBackSide": false }


{ "type": "Form", "isBackSide": false }

